Geometry			SAT Factoring Review			HW Assignment #1
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Completely factor x2 - 8 x+ 16
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Completely factor x2 + 14 x-+24
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Completely factor x2 - 9 x- 36
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Completely factor 2 X2 - 4 x- 16
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Which of the following s correctly factored?

36x2+49)2=(6x+7 N6x-7y)

8x2+16x+6=2(2 x+1)(2 x+3)

2 +64=(x+8)2
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Completely factor 3 b- 10+ b2
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Afactor of x2 - 17 x+60is
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Completely factor 4 xy+4 y+3 x+3
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The largest common factor for 36 a° b* and 24 22 bf is
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The largest common factor for 6 x, 4 xy. x)
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Which of the following cannot be factored?
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Completely factor x2- 49 x
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Completely factor 32 - 27
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